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When a is a positive real number, the |———Select——— V|ﬁ | - principal square root| of —a is defined as

V—a=ali

The numbers a + biand 3 — b/ are called | -—-Select—- V|£ ' conjugate pairs| , and their product is a real

number a2 + b2, N e
- (2:0)(r-b)= A=}

[’a:l’b[ B(Q——bi\ = a:l'__ (b(\q— = ?_37——— b’b (:’L - Q/L,ijL

Write the complex number in standard form.

JR— <
5+ -18 = § +H¢
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The | —-Select--- v|X Fundamental Theorem| of [ —Select— | % Algebra| states that if f{x) is a
il =~ Alg

polynomial of degree n (n = 0}, then fhas at least one zero in the complex number system.

Consider the function. o
() = — a4 2 (=) g () = =) /x4 )

(8) Use a graphing utility to graph the function. ™ %MMJ x=V\ V/ \_jv
= (keu)( x=D) ({2

Wew OL4 o H

The [ —Select—

v|3f |/_» Linear Factorization Tl1eorem| states that if f{x) is a polynomial of

degree n (n = 0), then f has precisely n linear factors, fix) = a_(x —c;)(x — ¢

2) e (X — cn), where Cyr Carvv €
are complex numbers.

The guantity under the radical sign of the Quadratic Formula, B — 4ac, is the

B = bZdac
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Determine the number of solutions of the equ the complex number system.

¥ +3x2 +12 =10

Use the discriminant to find the number of real and imaginary solutions of the quadratic equation.

12 ix+a0=0 = Q—( ,b="F, =17
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Solve the polynomial equation. (Enter your answers as a comma-separatad list.)

x*-6x?-7=0 Lot u= 4

1

= b’l~ (JV\‘—:" (U—q')(p\-f—)\» =0 = u:—{(q-
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Use the given zero to find all the zeros of the function. (Enter your answers as a comma-separated list. Include the given zero

in your answer.)
Function Zero D(U‘\A’ 57 X — ( —24 )

g(x) = 4x> +15x2 + 16x -5 —2+i
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